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Participatory Methods Training Workshop

Summary of Day 2
, Tuesday, March 5, 2002

I.  Opening
    A.  Summary of day 1

    B.  Rapporteur for day 2:  Hamada

    C.  Self-introduction by Kanno

II.  Participatory research approaches
    A.  Why participatory?
For our technologies to be relevant, we as biological or physical scientists need to be able to work with farmers.

 
We cannot leave this only to sociologist specialists

    B.  Risk
1. Laos example:  

every farmer has lowland fields, but not enough to feed family

Technology with increased risk may make their lives more difficult.


 2. Three common questions of researchers:

Why don’t farmers do what we tell them?   

Why don’t they change quickly?

Why do they continue to do things that don’t make sense to us?

         3. Definition of risk
likelilhood of:

doing the wrong thing (type I error)

or not doing the right thing (type II error)

 4. Classification of risk
	
	benefit
	no benefit

	change
	win

   (may be 

    long-term)
	type II error

(may be short-term)

	no change
	type I error
	don’t lose


Does our research help benefit  yes:

no            

Better understood by farmers:  impact of technology on labor

Better understood by researchers:  long-term

Changes that reduce or increase risk

5. 
Reason for participatory research 

Work together to understand which changes reduce or increase risk:

6.  Examples of risk:

a. climatic change in Japan --> what about Thailand?

   increase in dry spells

b. do farmers know about long-term climate change?

   Zimbabwe weather prediction (birds better than weather forecast)

   Central America:  old method using phases of moon no longer work <--

      farmers think due to climate change

c. agro-forestry risk in Thailand

  labor, becoming a weed

d. long-term risk, complex risk

         7. 
Dealing with risk
farmers sometimes wrong also

            entry-point technologies:  e.g., varieties

 
negotiation for long-term technologies


rainfed agriculture = gamble?   many types of risk can’t be predicted


have to bet (have no choice) – poor gambler forced to gamble who loses often

            adding value to store crops until gluts end and price goes up


but requires market knowledge, also often farmer organization

              e.g., niche markets for coffee marketed directly to consumers

            store rice from good year for bad years (Thailand, also Java:  rice = bank account)

         8.  technology change

             goal:  not solution to be adopted 

                       problem -->  technology -->  adopted : end of process

                   rather, options for unpredictable, risky outcomes

III. Claveria erosion and agroforestry case 

    A.  What researchers and farmers contributed to identifying the causes of the problem


    farmers



researchers
            identified erosion as the problems
technical options to offer

  




help farmers see the “big picture”:






  erosion as a village problem

    farmers chose options



evaluated options (technologies)
[quantification of effects*]

farmers identified technologies


  to test





* note:  not put on board, but could be inferred from discussion

     B.  What did researchers and farmers each gain? 


    farmers



researchers

     benefit: solved problem of 

learned about type of technologies



erosion



  farmers need


     got knowledge of hedgerows

learned from technology rejected

                and options 


  by farmers

gained a new research direction

help farmers to see new options

     C.   Comments
Why couldn’t researchers see labor constraints beforehand?

Researchers must pay attention to farmer criteria

Claveria example is similar to rainfed project

Researchers need to pay more attention to labor input 

Cannot ‘photocopy’ technologies

Scaling up means understanding where conditions are favorable
      D.  Example from Vietnam (comparison)

  1997:   20 farmers in trial

     

  problem:  feeding buffalo in dry season

15 grasses for dry season tested after selection from 600 lines

           1998:  20 farmers rejected technology:  

animals can survive dry season, not worth trouble of technology

                  2 farmers started feeding fish

           1999:  50 farmers feeding fish


   2000:  new law requiring buffalo to 

 
   2001:  700 farmers feeding fish


   2002   1500 farmers feeding fish

 

   400 farmers feeding buffalo

IV.  Challenges for your work, if you work more closely with farmers
     China:  extension service closely linked to business

     Thai:   different languages

 
     farmers describe problems too generally


     milking times variable


     dirty water for washing cows, milk contaminated


     analyzing data

             farmers expect rapid benefit

      
     dealing with complexity (human, biophysical)

             we try to reduce variation

      Mali:   some people (farmers) speak with a loud voice – we only hear them

V.    Complexity (Philippine example)
      medium  

    researchers
farmers

why
      manga


11
  0

we’re not children

      radio


12
  6

posters


10
 10

      TV shows      
  
19
  2

prefer dramas, if have TV

      cross-visits

19
  2

      innovative farmers

 1
 12

VI.   Research prioritization
      A. global priority:                sweet potato weevil

      B. Java pest priorities:            sweet potato weevil (most important)



      
               also rats, root rots, stem borer

      C. consultation with team:

         post-harvest specialist:         marketing

      D. Java problem priorities:         fluctuating prices, trader control, 

processing quality, 

pests (1, except in dry years)

      E. negotiated agenda with farmers

 reducing cost


 Farmer Field School:  
       test varieties for quality





       learn to negotiate

      F. results
        new varieties with processing quality

less overfertilization -> increased profit margin

method to estimate yield better, for negotiating with traders

      G. questions

 how to ask questions of farmers?


 work different from mandate -> how able to do this, how evaluated?


 answers:   drew from team

did face conflict, had poor evaluation

10 years later, Farmer Field School normal

VII.  Presentation:  Where does participatory research come from?
      A. Goals

      B. Research on station -> technology to extension

         good for lowlands, not so good for uplands

      C. Why


 1.  environment on station better ->  

on-farm research (rented – model farms)

         2. didn’t understand complexity ->

            farming systems research

         3. now:

            upland systems variable:  resources, problems, opportunities

            we can never fully understand as well as farmers

            farmers are experts in farming systems

            researchers are experts in technology

            only farmers can decide the fit


    therefore, participatory research
VIII. Variability game:  tearing off corners off of folded paper

      simple instructions <-> all different results when opened

IX.   Case study no. 2:  Philippines Cogon 

      comments:

      researcher survey detailed but didn’t capture the problem

      farmers’ diagram of problems is clear

      facilitators’ additional explanation

      govt.:  tress being cut down

      initially didn’t believe farmers can do a drawing like this

         in reality, can do in about 2 hrs.

      first problem farmers will mention is lack of money

      diagram shows main problem, and leads us to where we can attack the problem

      question 1:  highest problem
      answer 1:  low yield <- all flows to this problem

 
problem:  low yield is too general
        conflict between gov’t. priority and farmers’ priority

        project:  research to address farmers’ needs

      answer 2:  Cogon (farmers and scientists decided to work on this)

(animal health was also addressed by project)

Cogon infestation causes low yield  

necessary to agree on problem (Cogon, here) that both can work on together

question 2:  degree of participation
car with two drivers?

question 3:  would you do anything differently?

group 3:  get baseline data first

group 1:  survey did not match first step

          problem tree should show strength of relationship with larger or smaller arrows

          no clear process

group 2:  if second meeting was done first, maybe only needed one meeting

(researchers gave ideas from their observations only in first meeting)
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